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&= X 4 B | TiwmbhoDER ADKRES K 4 TN DKFE ADKES X 4 2% | EimhoDkE LighsDHE ADKRES
(m) (m) (kN/m) B (m) (kN/m) (m) (m) (m) (kN/m)
9 100kN/mMZE#BZ.% -l -~ = -[3mEBAD[ - ~ - -| 100kN/mMZE#8 2% = -~ = -~ = =
Zh Lot -l -~ - -| Ehilst -~ - - Zh Lot - -~ - -~ - -
3 100kN/m%ZE#BZ 5 - -~ - —-|3mZEEZAS -~ = -] 100kN/mM%E# %% - -~ - -~ - -
Fn Lot 1.00/000 ~ 576 71.98] #hilst 1000 ~ 576 9.39 Fn Lot 1.00] 500 ~ 6.47 500 ~ 647 9.39
4 100kN/m%ZE#B A5 - -~ - -|3mZE#EZS -~ = -] 100kN/mM%E# %% - -~ - -~ - -
Fn Lot 1.00/0.00 ~ 6.63 83.71| #hil4t | 000 ~ 6.63 10.71 Fhn Lot 1.00] 500 ~ 946 500 ~ 946 10.71
5 100kN/m%ZE#BZ 5 - -~ - —-|3mZEEZS -~ = -] 100kN/mM%E# %% - -~ - -~ - -
Fn Lot 1.00/000 ~ 776 9961| Zhilst |000 ~ 7.76 9.59 Fn Lot 1.00] 500 ~ 10.55 500 ~ 1055 9.59
6 100kN/mM#Z#BZ % 1.00/ 0.00 ~ 0.05 100.69|3m%E{BZ % -~ = -| 100kN/mM%E# %% 1.00] 10.54 ~ 10.66 -~ = =
Fn st 1.00/005 ~ 783 100.00| #hiist | 000 ~ 7.83 11.36 Fhn Lot 1.00] 500 ~ 10.54 500 ~ 10.66 11.36
7 100kN/m%ZE#BZ 5 - -~ - -|3mZE#EAS -~ = -] 100kN/mM%E# %% - -~ - -~ - -
Fhn st 1.00/000 ~ 7.78 9997| #hilst 000 ~ 7.78 11.37 Fn Lot 1.00] 500 ~ 10.53 500 ~ 1053 11.37
g 100kN/ mM#Z#BZ % 1.00/0.00 ~ 143 121.75|3m%EB 2% -~ = -| 100kN/M%E# %% 1.00] 11.35 ~ 17.80 -~ = =
Fn st 1.00]1.43 ~ 922 100.00|] #hiist 000 ~ 9.22 11.46 Fhn Lot 1.00] 500 ~ 11.35 500 ~ 17.80 11.46
9 100kN/mM#Z#BZ % 1.00/0.00 ~ 2.04 131.63|3m%E{BZ % -~ = -| 100kN/mM%E# %% 1.00] 10.54 ~ 18.17 -~ = =
Fn st 100|204 ~ 9383 100.00| #hiist 000 ~ 9.83 12.62 Fn Lot 1.00] 500 ~ 10.54 500 ~ 18.17 12.62
10 100kN/ mM#Z#BZ % 1.00/0.00 ~ 1.22 118.37|3m%E{BZ % -~ = -| 100kN/M%E# %% 1.00| 1144 ~ 16.70 -~ = =
Fn st 1.00]1.22 ~ 9.00 100.00| #hiist [ 000 ~ 9.00 11.41 Fn Lot 1.00] 500 ~ 11.44 500 ~ 16.70 11.41
1 100kN/mM#Z#B % % 1.00/ 0.00 ~ 0.65 109.65|3m%EBZ % -~ = -| 100kN/mM%E# %% 1.00] 10.54 ~ 12.37 -~ = =
Fhn Lot 1.00]065 ~ 843 100.00| Zhiist [ 000 ~ 843 11.58 Fn Lot 1.00] 500 ~ 10.54 500 ~ 1237 11.58
12 100kN/ mM#Z#BZ % 1.00/0.00 ~ 040 105.93|3m%EBZ % -~ = -| 100kN/M%E# %% 1.00] 10.74 ~ 11.83 -~ = =
Fhn Lot 1.00/040 ~ 8.19 100.00] #hiist | 000 ~ 819 12.03 Fn Lot 1.00] 500 ~ 10.74 500 ~ 11.83 12.03
13 100kN/m%ZE#BZ 5 - -~ - -|3mZEEERS -~ = -] 100kN/mM%E# %% - -~ - -~ - -
Fhn Lot 1.00/0.00 ~ 6.95 88.01| #hil4t | 000 ~ 0.00 8.94 Fn Lot 1.00] 500 ~ 8.66 500 ~ 8.66 8.94
14 100kN/m%ZE#BZ 5 - -~ - -|3mZEEEAS -~ = -] 100kN/mM%# %% - -~ - -~ - -
Fhn Lot 1.00{000 ~ 517 64.45| =hilst | 000 ~ 0.00 8.23 Fn st 1.00] 500 ~ 598 500 ~ 598 8.23
15 100kN/mMZ#B% % -l -~ = -|3mEHEZB| - ~ = -| 100kN/m%E# %% = -~ = -~ - -
Fn Lot 1.00]/0.00 ~ 594 7440 £h st 1000 ~ 0.00 9.13 Fhn Lot 1.00] 500 ~ 6.73 500 ~ 6.73 9.13
16 100kN/m%ZE#BZ 5 - -~ - -|3mZE#EAS -~ = -] 100kN/mM%# %% - -~ - -~ -
Zhnst 1.00]0.00 ~ 4,65 58.02| #h 4t | 0,00 ~ 0.00 8.41 Zhn st 1.00] 500 ~ 5.03 500 ~ 503 8.4_1




